Practice questions — Year 5 and 6 — Short division 4 digit by 2 digit

. 9,483 + 23 (short division 4 by 2 digit)
. 8,126 + 14 (short division 4 by 2 digit)
. 7,052 + 18 (short division 4 by 2 digit)
9,984 =+ 24 (short division 4 by 2 digit)
8,640 + 12 (short division 4 by 2 digit)
7,539 + 19 (short division 4 by 2 digit)

9,271 + 21 (short division 4 by 2 digit)
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. 6,178 + 15 (short division 4 by 2 digit)
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Practice question answers — Year 5 and 6 — Short division 4 digit by 2 digit

. 9,483 + 23 =412 remainder 7 (short division 4 by 2 digit)

. 8,126 + 14 =580 remainder 6 (short division 4 by 2 digit)

. 7,052 + 18 =391 remainder 14 (short division 4 by 2 digit)
9,984 + 24 = 416 (short division 4 by 2 digit)

8,640 + 12 =720 (short division 4 by 2 digit)

. 7,539 + 19 = 396 remainder 15 (short division 4 by 2 digit)

9,271 + 21 = 442 remainder 9 (short division 4 by 2 digit)
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. 6,178 + 15 =411 remainder 13 (short division 4 by 2 digit)
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